
  

 

 
INSTALLATION INSTRUCTIONS 

SIDE BAR PART#204030-2/204030 
2000 - 2007 GMC YUKON XL ½ TON 2/4WD 

2000 - 2007 CHEVROLET SUBURBAN ½ TON 2/4WD 
 

Read the instructions completely before you begin the installation. NOTE: Pictures 
are for reference only, actual brackets may be different. Installation is the same 

 
PARTS LIST 
(2) SIDE TUBES WITH STEPS    (4)  ½” x 2” HEX HEAD BOLTS   
(2) FRONT MOUNT BRACKETS    (4) ½” FLAT WASHERS 
(2) REAR MOUNT BRACKETS    (4) ½” SPLIT LOCK WASHERS 
(2) CENTER MOUNT BRACES    (2) 5/16” x 1” HEX HEAD BOLTS   
(6) M12 – 1.75 x 120mm HEX HEAD BOLTS（ONLY FOR 00-06 MODEL）      
(4) 5/16” FLAT WASHERS 
(2) 5/16”SPLIT LOCK WASHERS 
      
PROCEDURE 
1.  Begin installation by working on driver side of the vehicle (see Figures 1.1 – 1.4). 
 
2.  From underneath truck, loosen and remove body mount bolts that run upward through mounts into       

floorboard. Attach and secure Front Mount Bracket to underside of vehicles front body mount (see 
Figure 1.2)   with (1) M12 – 1.75 x 120mm bolt ( For 07 Model, use the factory bolt on the vehicle), 
(1) ½” split lock washer, and (1) ½” flat washer. Hand Tighten. 

 
3.  Attach and secure Rear Mount Bracket to underside of vehicles rear body mount as shown in Figure 

1.4, in same manner as the front. Repeat for Center Brace,(see Figure 1.3). 
 
4.  Attach Side Tube to Front and Rear Brackets using (1) ½” x 2” bolt, (1) ½” lock washer and (1) ½” flat 

washer for each bracket, and hand tighten. Fasten Center Brace to Side Tube using (1) 5/16”  x 1” 
bolt,(1)5/16’’ Flat washer and (2) 5/16”  flat washer. Adjust Side Tube so that it is level and centered, 
and tighten all bolts to complete the driver-side assembly. 

    
5. Repeat process for passenger side of vehicle to complete installation. 



  

 
  
   Figure 1.1 – Driver-Side Full Assembly View 
        
 
 
 
 
 
 

 
             
 
 
 

 
       
 
 
      
 
 
 
            Figure 1.2 – Front Bracket 
  
 
 
 

M12 – 1.75 x 120mm Bolt 

½” x 2” Bolt 

½” Washers 



  

 
            Figure 1.3 – Center Brace 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
            Figure 1.4 – Rear Bracket 
 
 
 

5/16” Hardware 



INSTALLTION  ALERT 
 

General Motors has made changes to their late model 2010 and 2012 Chevrolet Silverado and 
GMC Sierra Light Duty and Heavy Duty Trucks and these changes affect the installation of our 
Side Bars. 
 
 Currently, all Side Bars manufactured for GM trucks use the factory body mount bolts to attach 
the bars and brackets to the truck. In years past, GM used a fixed nut that was welded in place to 
the chassis of the truck. Starting late 2010, GM has now gone to a loose nut that is surrounded by 
a "Cage Nut" which has two tabs on either side of the nut to keep it from loosening. Along with 
this cage nut, GM is also using Heavy Duty Loc-tite on the Body Mount Bolts for added 
protection. 
 
 Due to this change, Aries is recommending EXTREME CARE when removing the factory body 
mount bolts from these trucks. Loosen and re-tighten all body mount bolts by hand! DO NOT 
use Impact Tools of any kind! If bolts become increasingly tight as you are loosening them you 
may need to retighten & loosen the bolt several times to clear the loc-tite from the threads Failure 
to follow this instruction could cause the body mount bolts to seize and the tabs of the 'Cage Nut' 
to bend allowing the nut to spin freely inside Chassis floor board! 
 
 Most of clients have been installing the existing side bar applications on these new trucks with no 
issues, but please be sure to follow our recommendation to prevent any installation issues. If you 
have any questions, please feel free to call our Customer Service Department at 888-800-2743. 
 
 
 

Example of the General Motors Body Bolts 



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /ENU (Use these settings to create PDF documents with higher image resolution for high quality pre-press printing. The PDF documents can be opened with Acrobat and Reader 5.0 and later. These settings require font embedding.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308030d730ea30d730ec30b9537052377528306e00200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /FRA <>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


